2018 NAPLAN Trial Test 9
Language Conventions Year 3 — Suggested Answers

47.  because they were going to visit his aunt.

All the other alternatives are phrases, not clauses, because they do not have a verb.

48.  The sheep was caring for the little lamb.

The plural of peach is peaches. Fish and clothing are both singular and plural. There is no
such word as a noun, fishes or clothings. Sheep is both singular and plural. Here one sheep
was caring for the lamb.

End of 2018 NAPLAN Trial Test
Language Conventions Year 3
Suggested Answers

KILBAHA MULTIMEDIA PUBLISHING TEL: (03) 9018 5376
PO BOX 2227 FAX: (03) 9817 4334
KEW VIC 3101 kilbaha@gmail.com
AUSTRALIA http://kilbaha.com.au
© Kilbaha Multimedia Publishing http://kilbaha.com.au

This page must be counted in surveys by Copyright Agency Limited (CAL)
http://copyright.com.au






